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205 2|3/ Hl 726,268 721,661 4,607
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O3 &=t 900,000& *13H x12& 140,400
OBxXEsH| 200,000& x13H x12& 31,200
0284 371,263 364,699 6,564
O3 834 2,379,890 x13H x12& 371,263
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O32gdss&tl 71,725
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01 AFR22t2l Yl 5,456 7,406 A 1,950
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O9& AZ AN 400,000& x13H 5,200
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OoYgs S ME 2,500 x120& *23] 600
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OCCTV S HEHI SX2+Hl 56,557,000 *4% 2,263
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201 Bt H | 7,489 7,499 A 10
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-odE 3,500,000 =1CH 3,500
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201 L2 H| 12,990 3,420 9,570
01 At 22l Yl 12,990 3,420 9,570
Oddlal & AT 3los L2 (HE) 2,000
OXMRAL S ZAIZ2W BN 10,0003 20 200
O83e=s 222 8,020
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- M8t = EtD| ESN
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O&AE - &0l 23w =29 1,000
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—-8%10 2,000 *x10&x12& 240
—11x14 5,000 *3& x12& 180
O93J WA 350, 000& =374 1,050
405 XHaHF SHI 8,800 0 8,800
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ol 2A | 44,828 42,817 2,011
101 @121l 44,828 42,817 2,011
03 I AHLZ2ZZAHE S 44,828 42,817 2,011
oJleas 2,611,210& x 19 «12& 31,335
O=cl =4l 3,649
- ZHZAH| 130,000 *1H x12& 1,560
- @& EIH| 2,611,210& *80% 2,089
O8I an2 3,505,900& *36% 1,263
OxN22¢ 8,581
- xU22E
3,617,430 /226 Al 2t % 150%*20 Al 2t * 128 5,763
~UXRIEINLY
3,617,430 /226 Al 2Ex8 Al 2H+22L 2,818
Al 78,390 80,750 N 2,360
=&l 78,390 80,750 A 2,360
201 et A | 16,820 16,820 0
01 AFR2t2l Yl 16,820 16,820 0
O=AIEX F¢ 1,820
- A4 20,000& x70Ef A 1,400
—B4 30,000& x148F A 420
OomZgly EYH 7Y 180,000& =124 2,160
OZetZely &g 2¢ 400,000& =2 =2CH 1,600
OkL= HJI8 & HJI2 H2lbl
10,000& *204! 200
OFMEY JIE242H| 10,0003 x169 *12& 1,920
OANZ2AZ2 X SAH 8,000 x541x15H x12& 7,200
O2HZE A2t ZAHl 8,000& * 1A %20 x12& 1,920
202 O B 53,760 53,760 0
01 2L Y] 53,760 53,760 0
O&J ZHLH A HI 280,000& x16H x12& 53,760
203 &R =&H| 7,170 7,170 0
01 J|22H L R=AH| 2,970 2,970 0
O3 ANR=2H 3,300,000& *90% 2,970
04 ENSIHRF=EY| 4,200 4,200 0
O9gAL2= (15210l al) 250,000& x12& 3,000
Ox &4l (520l8t) 100,000& x12& 1,200
405 XHo&HF S HI 640 3,000 N 2,360
01 AL 2 S F SHI 640 3,000 N 2,360
O3J18ED| 2] 640,000& =14 640




